EDUCOM ACADEMY

Important Questions

HOTS:
1. How one is cha
Ans. In evolutio
functions. For ex
adapted for flight.
2. What happened
plants?
Ans. Only dominant tfait
3. Who provided experi
inanimate matter?
Ans. Miller and Urey
4. Why are asexually
features?
Ans. Asexual reproduction tends to preserve the similarities among all the
individuals belonging to a give line of descent. Therefore, asexually reproducing
organisms are capable of showing hereditary features.
5. If the sperm beari
be entirely like his fat
Ans. It is so because
have its effects an
characteristics.
6. A normal pea plan
flowers. What could b
Ans. The appearance of white flowers is due to mutation.
7. Mention any two recessive traits of garden pea.
Ans. Dwarf (height of plant), wrinkled seed
8. Write the characteristics on the basis of which duck-biled platypus is
considered as a link between reptiles and mammals.

s with Answers:

nctions? Give one example.
used to perform other
later they were

racter in a pea

origin of life from

ple of showing hereditary

e child bom will not

romosome will also
also show their

producing white
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Ans. The characteristic resembling reptiles is laying of eggs and the
characteristics resembling mammals is presence of mammary glands.

9. Why are the small number of surviving tigers a cause of worry from the point
of view of genetics?

Ans. As the population of tigers is decreasing, there is loss of genes from the
gene pool and there can’t be reco ions and variations, thus no evolution.
10. What is called phylogeneti i
Ans. Classification base
11. Is it true that ecies is eliminated,
why?
Ans. No, it is not merged, the old species is
eliminated. Becau e change is only in
a part or a few ewly generated
species after genetic change is b e opportunity to
survive and if the t will die. Thus,
unchanged memb;r tend to live in
changed environment.

12. What will be the pe | 03 : aBb parent?

Ans. 25 percent :
13. Mendel crossed a p h a dominant pure red
flowered plant. What wi
Ans. All red

14. In evolutionary terms, which among-bacteria, spider, fish and chimpanzee
have a “better” body design? Why or why not?

Ans. Chimpanzee hav i
are better adapted fo
15. What is an off spri
Ans. In sexual reprod
exchange of gene seg
16. Why are traits acq
Ans. Traits acquired herited because
change in non-reprod assed on to the
DNA of germ cells. Thus, the acquired trait will die with the death of the
individual. It is therefore nonheritable and cannot be passed on to its progeny.
17. Name the chemicals which were essential for origin of life.

Ans. Proteins and nucleic acid

18. Why males are called heterogametic?

to others given. They
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Ans. Because they have dissimilar sex chromosomes.

19. What is the percentage possibility a couple of having daughters?

Ans. 50 percent

20. Name 2 organisms in which sex determination is regulated by environmental
factors?

Ans. Turtle, lizard

21. What are inherited traits2
Ans. The characteristic to their offsprings
are called inherite
22. When M i f plant, no medium height
plants were obtai
Ans. Because do
recessive genes. S '
23. The gene type of green stémmed tomatg de GG and that of
purple stemmed to / :

ii. Give the percen.g

i. What colour of st
progeny?

iii. In what ratio would
Ans. i. Colour of Fl proge
ii. Percentage of purple s
iii. Ratio of genotypes GG and G
24. The human hand, cat paw and horse foot when studied in detail show the
same structure of bones and point towards a common origin.

i. What do you conclu
ii. What is the term gi
Ans. They have a com
25. What are the caus
Ans. i. inaccuracies du
ii. Effect of environme
ili. Mutations are sud us inheritable as
produced due to chan
26. How do we know how old a fossil is?

Ans. There are two methods:

i. Relative method when we dig into the earth, the fossils we find closer to the
surface are more recent than the fossils we find in deeper layers.

nd suppress the effect of

2 self pollinated.

ation V* or 25%.




ii. By detecting the ratios of different isotopes of the same element in the fossil
material.

27. Only variation that confer and advantage to an individual organism will
survive in a population. Do you agree with this statement? Why or why not?
Ans. We agree with the statement. All the variation do not have an equal chance
of surviving in the environment i hey find themselves. The chances of
surviving depend on the nat
kind of advantages. A
heat wave.

ill survive better in



